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public class ImportExample {
public static void main(String[] args) {
java.util.Scanner scanner =
new java.util.Scanner(System.in);

import java.util.Scanner;
public class ImportExample {
public static void main(String[] args) {
Scanner scanner =
new Scanner(System.in);

}

* import javautil, T ——— import java.util.*;
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public class ImportExample {
public static void main(String|] args) {
Scanner scanner =
new Scanner(System.in);

import static java.lang.Math.*;
double r = cos(PI * theta);
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abstract class Calculator {
public abstract int add(int a, int b);// & 82| & T}0] 2|H
public abstract int subtract(int a, int b);// & d=2| A& Tt 2|H

public abstract double average(int[] a);// HHE 0| XM= H4o| WRS Foff A2

class GoodCalc extends Calculator {
public int add(int a, int b) { return a+b;}
public int subtract(int a, int b) { returna - b; }
public double average(int[] a) {
double sum = (;
for (inti = 0;i < alength; i++)
sum += afi];
return sum/a.length;
}
public static void main(String [] args) {
Calculator ¢ = new GoodCalc();
System.out.printin(c.add(2,3));
System.out.printin(c.subtract(2,3));
System.out.printin(c.average(new int [] {2,344 }));
}
}
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Create a new Java package. i
Creates folders corresponding to packages.

Source folder: PackageEx/src Browse...
o > |

Create package-infojava

@

O|Z R 20IM &l Tf7|X] S

o Ij7|X| 2g0| 2= A1

1L
-
-

18 Package Eiplorer 32| ) & ¥ e

4 (& Packagebx 7| X| A X0l app
4 s 7| X| 2 lib TH7| K| 7}
lgjr;ﬂ =olch,
il

» =k JRE System Library [JavaSE-1.8]

Problems 52 @ Javadoc (£} Declaration =g

app - PackageEx/src

O|F BRI Z0M gl TH7|X] S

o 222 Calculator BHE7|

Calculator S22
£ public abstract
%P0z Mysich

[ Comtructon from superclass
[ Inherited abstract methods

Do you want 10 384 comements? (Confiques templater
%] Generate comments

O] -I20IM &l T{7|X] S

o Calculator 22290 A4 =X

Run Window Help

[3] Calculatorjava &2 =

1 @ackage lib; -

public abstract class Calculator m
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i) Geeacacia I 5 public class GoodCalc extends Calculator {
o @ i B & public int add{int a, int b) {
) Caeulsten java 7 return ath;
w5 System Ubrary (3 [ g }
- public int subtract(int a, imt b) {
12 return a - bj
11 1
B2 public double average(int[] a) {
13 double sum = 8;
14 for (int i = @; i < a.length; ie+)
15 sum +s afi);
16 return sum/a.length;
17 1
18 public static void main{String [] args) {
19 Calculator ¢ = new GoodCale();
28 System.owt.println(c.add(2,3));
21 System.out. println(c.subtract(2,3));
22 System.owt.println(c.average(new int [] {2,3,4 }));
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protected Object clone() 3 |2t ELH2 MHHE =N 2|
boolean equals(Object obj) obizt 2|7 k= HARt S 2HA17E 6l nSH 22 true 2|E
Class getClass() S Ax|2| SHEtY SHAS elE
int hashCode() & 2430l CHEt SHA| 2 2k 2|8
String toString() 2 3jofl chEt AEZY HES 2|H
void notify() S A0l chal ch7 |3t s stutel AEE MICL
void notifyAll() & 2|0l chal cholgta Qe 2E L= M2Ct
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class Point {
int x, y;
public Point(int x, int y) {
this.x = x;
thisy = y;
}

}
public class ObjectProperty {

public static void main(String [] args) {
Point p = new Point(2,3);
System.out.printin(p.getClass().getName());
System.out.printin(p.hashCode());

System.out.printIn(p.toString()); 1P<23|6n7t7 476
System.out.printin(p); Point@c17164
} Point@c17164

}

o String toString()
= AN E EAER gt
= Object E2fA0] & & toString()0| gtetst= EA+E
22 0|E@ZH 2| hash code
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Point a = new Point(2,3); Point a = new Point(2,3);

Strings = a + "&®"; — String s = a.toString()+ "&";

System.out.printIn(s); #k System.out.printin(s.toString());
' Point@c17164% |




MZ2 toString() TH=7I

class Point {
intx, y;
public Point(int x, int y) {
this.x = x; thisy = y;
}
public String toString() {

return "Point(" + x + "," + y+ ")";

}

}
public class ObjectProperty {
public static void main(String [] args) {
Point a = new Point(2,3);
System.out.printin(a.toString());

System.out.printin(a); 2t = S

) } ' Point(2,3)

ZHH| H| 1 (==12} equals())

o AN HmEL0 SLE HlW == ALK} O]
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= boolean equals(Object obj) O|&

class Point { Point a = new Point(2,3);
intx, y; Point b = new Point(2,3);
public Point(int x, int y) { Point ¢ = a; a

thisx = x; thisy = y; if(a == b) // false
} System.out.printin("a==b"); | b Point
} if@ == ¢) // true
System.out.printin("a==c");

class Point { Point a = new Point(2,3);
intx, y; Point b = new Point(2,3);

public Point(int x, int y) { Point ¢ = new Point(3,4); a Point
thisx = x; thisy = y; if(a == b) // false y=3
} System.out.printin("a==b"); X=2 .
public boolean equals(Point p){ | if(a.equals(b)) // true b Point
if(x == px && y == p.y) System.out.printin("a is equal to b"); =
return true; if(a.equals(c)) // false c Point

else System.out.printIn("a is equal to c");
return false;

.
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Wrapper Sel£

class Rect { public class EqualsEx {
int width; public static void main(String[] args) {
int height; Rect a = new Rect(2,3);

public Rect(int width, int height) {
this.width = width;
this.height = height;
}
public boolean equals(Rect p) {
if (width*height ==
p.width*p.height)
return true;
else
return false;

Rect b = new Rect(3,2);

Rect ¢ = new Rect(3,4);

if(a.equals(b)) System.out.printin("a is equal
to b");

if(a.equals(c)) System.out.printin("a is equal
to c");

if(b.equals(c)) System.out.printin("b is
equal to c");

}

}

I ais equal to b
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byte  short int lang char float double boolean
GlolE et
Wrapper
Byte  Short | Integer Long Character Float Double Boolean
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o 7|2 Et9| 2 QIXtE Wrapper 22iA dMX &

Integer i = new Integer(10);
Character ¢ = new Character('c’);
Float f = new Float(3.14);
Boolean b = new Boolean(true);

o HIO|H 22 LEIH= EXIE S MEX}; QAXE AR
)

Boolean b = new Boolean("false
Integer | = new Integer("10");
Double d = new Double("3.14");

O Float= double EtQ| 4f2 HMXIQ| QXIZE ALE

Float f = new Float((double) 3.14);

T8 HaE

o 7H& BO| AF2SHE Integer 2229 F8 HAE

ojA=
static int bitCount(int 1)
float floatValue()
int intValue()
Tong TongValue()
short shortValue()
static int parselnt(String s)
static int parselnt(String s, int radix)
static String toBinaryString(int 1)
static String toHexString(int i)
static String toOctalString(int i)

static String toString(int i)

ks

QUXF 19| 0Tl HB0IM 19] 42 2l

int EIRIS 2 S
Tong EfRIo2 tHSHE Zf 2|8
short Efle= HEE gt a|E
AE s 107 Ha HEE g alE

AER sB APYE TO| F42 s gt ale

QIXHE 0|74 BPc2 HElE AEg] 2|H
QRS 168l BBIOZ WElE A 2|
QA iE 88l HBOZ HEE AEgl 2|E
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Wrapper &-&

0 Wrapper ZH 258 7|& 00| Ef2] 2OtLY 7|

C_ . Float f = new Float(3.14);
Integer i = new Integer(10); .
intii = i.intVaIue(); //ii =10 float ff = f.roatVaIue(), // ff = 3.14

Boolean b = new Boolean(true);
// bb = true
boolean bb = b.booleanValue();

o 2AtE€2 7|= HOIH Efgez Het

Character ¢ = new Character('c' );
char cc = c.charValue(); // cc = ¢’

int i = Integer.parselnt("123"); // i = 123
boolean b = Boolean.parseBoolean("true"); // b = true
float f = Float.parseFloat("3.141592" ); // f = 3.141592

Wrapper &

o 7|2 CIOJH Bt S =Xtz Het
/] 851238 EAHE 123" 22 Het

String s1 = Integer.toString(123);

/85 1238 16T150| 2XtE "7b"2 izt
String s2 = Integer.toHexString(123);

/] 25 31415928 =AY "3.141592"2 Higt
String s3 = Float.toString(3.141592f);

// & 'a'E =AE "a'E et

String s4 = Charater.toString('a’);

/] =8 o trueE ZXE "true"E Het
String s5 = Boolean.toString(true);
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public class WrapperClassEx {

public static void main(String[] args) {

Integer i = new Integer(10);

char c = '4;

Double d = new Double(3.1234566);
System.out.printin(Character.toLowerCase('A"));

if (Character.isDigit(c))

System.out.printin(Character.getNumericValue(c));
System.out.printIn(Integer.parselnt("-123"));
System.out.printIn(Integer.toBinaryString(28));
System.out.printin(Integer.toHexString(28));
System.out.printin(i.doubleValue());
System.out.printin(d.toString());
System.out.printin(Double.parseDouble("44.13e-6"));
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o 2H(boxing)

n 7|2 EtRC| 2f2 Wrapper 2K 2
o A2 (unboxing)

= Wrapper 240 S0 U= 7|2 EtYQl ¢t L= A

2h4 (boxing)
int Integer ten = new Integer(10);

NE

Integer ZHA|

o]

2182 (unboxing)

int i = ten.intValue();
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o AtE EHd(Auto boxing)
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Integer ten = 10; // RS
inti = ten; // A&

I-AI
o.

o
AErA. ten -> ten.getintValue(), 2 A& At

10 -> new Integer(10)2 2 At5 HhAl
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public class AutoBoxingUnBoxing {
public static void main(String[] args) {
inti=10;
Integer intObject = i; // auto boxing
System.out.printin(“intObject = " + intObject);

i = intObject + 10; // auto unboxing
System.out.printin("i = " + i);
}
}
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m String 22iA £ StLEL| AEYTH BH s ChE 2IHEE 4, String s = "Hello";
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String str1 = "abcd"; m String 2K £ 47, String t = new String("Hello");
810 String ZiA| A4 il 74 714s| AEE 2l ol
// String 2EH20] MAHXLS 0| 8310] AEZ Y g
chgr data[] = {'a, 'b', 'c' 'd} String a = "Hello"; g
String str2 = new Strlng(data)' String b = "Java"; A
String str3 = new String("abcd"); // str2@t str32 25 "abcd" AEE String ¢ = "Hello"; ./,-'
= String A4 X} String d = new String("Hello"); ‘
String e = new String("Java"); I
Goal ‘ EL String f = new String("Java"); - g B L
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int compareTo(String anotherString) | @1 0, 3 AEZI0| X|EHE AE2ECt AlFSo Gix| LI9H
24 o w48 2y

- > _.. " f s.concat ("Java" 151 247 |
Hello — AEZ sé u=1745)|§| o}; = ] String concat(String str) str AERE BiXf AER Fi0f B AEY 2|

boolean contains (CharSequence s) sOf| RjEE elo| 22 ZEEin 2l true 2|8
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O int compareTo(String anotherString)
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® gf g 70l anotherstring = ARO) HE0 HeE E AH tostring)E EESH0] AHE BALE Wel T BRI A2
String a = "java"; = 7|2 EY U2 2AE R BetE 20| HE
‘isr;f:wr\gsb_z cjg.: ;areTo(b)' S System.out.print("abcd" + 1 + true + 3.13e-2 + 'E'+ "fgh" );
s co 0y P ' e g e // abcd1true0.0313Efgh £
elzsitfezgfftgrmﬂn( the same”); o String concat(String stnE 0| &%t A€ ¢4
System.out.printin(a +"<"+b); "abcd".concat("efgh");
else // "abcdefg” 2| &
System.out.printin(a +">"+b); = 7|E String ZHof AZEX| %3 M2 AEY A 44
2| H
|java>jasa | |
0 B AMR === At HL0= AHEY 5= 8IS
o o o o
concat()2 MZ22 =XIES 448 EXE Lie| 3 HIAH, EXtEe| Z Xt M2
o &% KA
String s1 = "abcd"; _ ) m String trim()
String s2 = "efgh”; s1 = sT.concat(s2); =AE o F S ':'Xf(tab enter, space) |72t ZAE 2|H
String a = " abcd def *;
String b = "WtxyzWt";
1@ abcd s1 abcdefgh String ¢ = a.trim(); // c = "abcd def"
String d = b.trim(); // d = "xyz"
s2|E|—> efgh abcd o EXtgol EX} S

// "class"O| ZEE 5| +E M=
int count = 0;
String a = "class";
// alength()= 5
for(int i=0; i<a.length(); i++) {
if(a.charAt(i) == 's’)
count++;

m char charAt(int index)
X ol 2xt 2

String a = "class";
char ¢ = a.charAt(2); // c = 'a’'

}
System.out.printin(count); // 2 &
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public class StringEx {
public static void main(String[] args) {

String a = new String(" abcd");
String b = new String(",efg");
// =X Hd
a = a.concat(b);
System.out.printin(a);
// S KA
a = a.trim();
System.out.printIn(a);
// EXE CHA|
a = areplace("ab","12"),
System.out.printin(a);

/] =XE 22
String s[] = a.split(",");
for (int i=0; i<s.length; i++)
System.out.printin("= 2| & " + i + "#H XL " + s[i]);

/I NME AEE
a = a.substring(3);
System.out.printin(a);

// EXEL| EXt
char ¢ = a.charAt(2);
System.out.printIn(c);
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|a=newStr'ing(“abcd“); | a‘ .—’—»‘ |a‘b‘c‘d‘
|

| b = new String(",efg"); | b

[ [afv]caf.[e[f]s]
Lot [b]cd

s g 1[z]cfaf.[efr]q]
o ot~ 12]e o
N
|a=a.substr'ing(3); | a‘ .—’—»‘d|,‘e‘f‘g‘

|charc=a.charAt(2}; | a‘ .—’—»‘d|,‘e‘f‘g‘
Lo fo—r!

a = a.concat(b);

a s

elfls)

a = a.replace("ab", "12");

| a = a.trim();

String s[] = a.split(",");

o java.lang.StringBuffer

« 2ERDEE AN 8Y = 2EQ g HE Tts

= append®t insert HIAEE S AEZ X%

= StringBuffer Z{M|2| 37|= AE& ZO[0f| et 7HHA
o d-dXt

| StringBuffer sb = new StringBuffer("java"); |

StringBuffer()

=7| el 377} 1621 AE2] I Z4H| A4

StringBuffer(charSequence seq)

seq7t X|Hsh= YT 2AEE HEsle AE- U dd

StringBuffer(int capacity)

AEE 7] 37|12 e A2 B 4y

StringBuffer(String str)

AHE ASROZ X7 |S1E AEZ HI M




SringBuffer &2 HAE

plas | L]
StringBuffer append(String str) | str AEZIS A2 WY SE2ICH
StringBuffer append I sb AEZS HHE #HIje] AEE HMO| GE2ICH 0] Sat 3l A
(stringBuffer sb) EZ! HI{9| LHRO0| HHEH
int capacity() . Sl AEE HIo| 57| 2|H

StringBuffer delete

start $x|0|A] end?} X|EHGH= 2519 YT AEE] K|
(int start, int end) |04 I X Esh= tel LXK (]

StringBuffer insert

(int offset, String str) str A=ZE A BT offset AX(ol 4l

|

StringBuffer replace Ezl I LH2| start?| X|EH5l= 2X5E end?t XEHS= 251
(int start, int end, String str) | 22| MY AE2IS str2 7]
StringBuffer reverse() AE2 HIH L2 2XEF gt M2 HE

-

=
E vl L 2AKE ZOIZ newlength2 A{tE, S 2oLt

void secLengtn(int nevtensch) 4P d 22 MR X2 Y= 7|E SXIU0| ZaCL

r

StringBuffer2| H| &= E& 0f

StringBuffer sb = new StringBuffer("a"); sb > a
sb.append(™ pencil®); sh . @— a pleln c|il1
sh.insert(2, "nice "); sh = a nfi|lc e p e n|c
—N —
olelaz | | oluap |
\ \ J
sh.replace(2, 6, "bad"); sh ® - = 2 b|a|d ple|n ¢ | i
/,/; AN

sb.delete(0, 2); sh @— b a d p oe|m|c i 1
[ sh.reverse(); ] s.bl .——b 1[ilc|nle P [ d|lalb

int n = sbh.length(); n=10

char ¢ = sh.charat(3); sb ®—— 1 i ¢ n e p d a b
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StringBuffer 22j20| HAEE 0|g3t0] 2X12S TS 0E ROIXL,
Che REO| A% HHe?

public class StringBufferEx {
public static void main(String[] args) {

StringBuffer sb = new StringBuffer("This");
System.out.printin(sb.hashCode());
sb.append(" is pencil"); // 2Xt€ H&0|7|
System.out.printin(sb);
sb.insert(7, " my"); // =AE & ¥
System.out.printin(sb);
sb.replace(8, 10, "your"); // =XAtE CHX|
System.out.printin(sb);
sb.setlength(5); // 2E3 HI{ | XY Z0| &7
System.out.printin(sb);
System.out.printin(sb.hashCode());

StringTokenizer S22

O java.util.StringTokenizer
= T2 2AE VIELR EAE =2

o 2AEE A2 I MAEEE EXHE & EXH(delimiter)2tn B

String query = "name=kitae&addr=seoul&age=21";
StringTokenizer st = new StringTokenizer(query, "&");

= 2O OO0 ‘&7t 2 2At
= EZ(token)
o T2 2XE 2E2E EXE
= String 221 A2| split() HAEE 0[835t0 &Y 73 7t

olr




StringTokenizer &2 HAE

o StringTokenizer ‘44Xt

StringTokenizer(String str) str AEZIOS A AES ESLIOIK MM

StringTokenizer(String str, String

delim) str AEZD}delim 12 2X}2 DS AEZ ESLI0|K A

str AERIT} delim T 2Al2 0pASH AS2) E5010|H A

StringTokenizer(String str, String
) 1ims 7 0|H delimO & =X 2
delim, boolean returnDelims) f:ﬂrz:umue ms7t true| P delim0| BEIE 2xjE E30| =
[= = .

int countTokens () AEE EFLH0|Mo ZaE E32] 4= 2
boolean hasMoreTokens () AE= EJUL0|A ChE E30] 312™ true 2|8
String nextToken() e B2 2

StringTokenizer Z4X| A4/d 1}
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String query = "name=kitaefaddr=seoulkage=21";

StringTokenizer st = new StringTokenizer(query, "&"); st E—>

StringTokenizer st = new StringTokenizer(query, "&"); st El—>

"name=kitae" EZ1
"addr=seoul" EZ22

"age=21" E33

StringTokenizer ZHx|

StringTokenizer ZHx||

O™l : StringTokenizer 224 HAE 28
'BEE/HE/BH/SF/EFEMNES/E T2 AR SO
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Math 22

import java.util.StringTokenizer;

public class StringTokenizerEx {
public static void main(String[] args) {
StringTokenizer st =
new StringTokenizer("8 2 &/& %t/ 28/ F/2F", "/");
while (st.hasMoreTokens())
System.out.printin(st.nextToken());

static double abs{double a)

static double cos(double a)
static double sin(double a)
static double tan(double a)
static double exp({double a)

static double ceil{double a)

static double max(double a, double b)
static double min{double a, double b)
static double random()

static double rint(double a)

static Tong round(double a)

static double sqrt{double a)

| 404 a2l EcHL 218

4= a9 cosine gt 2|8

[ 4la= a2 sine ZF 2|
‘al4 a2| tangent gt 2/
o it 2lE

o 728l ds Aits +d5tE HAE HS
= java.lang.Math
= BE HAEE staticRE M A

A4 aliCh ML T2 4 FoIM FHE B2 oE A

= Elgies 2l
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10,050t S74L} 20 1.0k 2 2yole] 414 Al
RIBE A4 a0 7K 28 H4E 44 ErRloz 2ld

Bl ol A HW Xi2(0) M BHERIE HSH Tong EIY

oz wa

| a4 a0y iz 21




L} HFAH

Math S22 5 &8¢t o+ 2
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= static double random()
0.0 0|2} 1.0 O|2t2] A 2|9| double #t2 HHe!
00l A 100At0|2] = 4= 1071 Al7|= ME ZE

for(int x=0; x<10; x++) {

double d = Math.random()*100; // [0.0 ~ 99.9999] &=~ 2H/¥

// dE B2 85t FH=2 BEh [0~100] A0S F=

int n = (int)(Math.round(d));

System.out.printin(n);

}

=

2lo] EWAM round() M4 E+= Math. round(55.3)2 55.02
2| B8O, Math. round(55.9)= 56.02 2| &
= java.uti.lRandom 22jAE 0| &3H & O CHYoH HEHZE =
HEAY JHs
=2 O o

oA : Math S22 HAE 28

public class MathEx { 2.78987434

public static void main(String[] args) { -2.0
double a = -2.78987434; -3.0
/] BUigt Tt 3.0
System.out.printin(Math.abs(a)); 4.4816890703380645
System.out.printin(Math.ceil(a)); // ceil 3.0
System.out.printin(Math.floor(a)); // floor | OJE1== S 20| Mo = 35 42
System.out.printin(Math.sqrt(9.0)); // M= 18 31 33

System.out.printin(Math.exp(1.5)); // exp
System.out.printin(Math.rint(3.141592)); // rint
// [1,45] AtO[2Q| th= 2l
System.out.print("O|HF H29| H="),
for (int i=0; i<5; i++)

System.out.print(Math.round(1 + Math.random() * 44) + " ");
System.out.printin(" & LI Ck");

Calendar E2j2

o Calendar 2249 £%
= java.util I{ 7| X|
o AlZHDF ISR ZE 2

4,8, 2, 29 AL £ & 2ok, 9F 93 5
Calendar 2229| 2¢ A|Zt Q28 MHs}7|Lt 2ot7]| 93t
zcE
= 9lo| == 9jo|
YEAR e DAY 8t &l Ut
MONTH =1 DAY_OF_WEEK Bt 3o g
HOUR 0~11A|2 BHHE A2t AM_PH LEQIX| 2F01X| &
HOUR_OF_DAY 280|212 7|22 B ALY MINUTE =
SECOND = MILLISECOND =

Calendar ZHH| 4/ 51 xR} A|Zt

o Calendar ZiA| Ao
= Calendar now = Calendar.getinstance(); 0|-&
nowZiX|= HX Rl A7t HEE JHA[ D 4H
Calendar= 4 2220|222 new Calendar() SHX| %S
o HXY LRt AlZH
int year = now.get(Calendar.YEAR); /)N EHE
int month = now.get(CalendarMONTH) + 1; // X &
o gAet AIZt S|
w LH7F T2l SRt AZHS CalendarZ M| S 0| 8310 X &
Calendar Z4X|0f 'SRt AlZHS HETICIL SN HFE Q| IRQF A7t
HH= 22 otY -> HAFEQ| AlZtnt EME HE CHE W 0|8
// 01'd EIFet B2 HO|ESH EMet A7 XMF
Calendar firstDate = Calendar.getinstance();
firstDate.clear(); // SXf St A7 HEE B E X| 2L}
firstDate.set(2012, 11, 25); // 2012d 12€ 25¢. 12€¥2 112 &4
firstDate.set(CalendarHOUR_OF_DAY, 20); // M4 8A|Z A
firstDate.set(CalendarMINUTE, 30); // 30222 &A%

mjo
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import java.util.Calendar;
public class CalendarEx {
public static void printCalendar(String msg, Calendar cal) {

int year = cal.get(Calendar.YEAR);
// get()= 0~3077HX| 2| F== 2| H.
int month = cal.get(CalendarMONTH) + 1;
int day = cal.get(Calendar.DAY_OF_MONTH);
int dayOfWeek = cal.get(Calendar.DAY_OF_WEEK);
int hour = cal.get(Calendar.HOUR);
int hourOfDay = cal.get(CalendarHOUR_OF_DAY);
int ampm = cal.get(CalendarAM_PM);
int minute = cal.get(CalendarMINUTE);
int second = cal.get(Calendar.SECOND);
int millisecond = cal.get(Calendar.MILLISECOND);
System.out.print(msg + year + "/" + month + "/" + day + "/");

switch(dayOfWeek) {
case Calendar.SUNDAY : System.out.print("& 2 2"); break;
case CalendarMONDAY : System.out.print("& 2 &"); break;
case Calendar.TUESDAY : System.out.print("2t2 "), break;
case CalendarWEDNESDAY : System.out.print("=2 &"); break;
case Calendar.THURSDAY : System.out.print("=2 &"); break;
case Calendar.FRIDAY: System.out.print("& 2 &¥"); break;
case Calendar.SATURDAY : System.out.print("E2 "), break;

1

System.out.print("(" + hourOfDay + "Al)");

if@mpm == CalendarAM) System.out.print("27H"),

else System.out.print("2=2");

System.out.printin(hour + "A| " + minute + "& " + second + "= “
+ millisecond +"&2|x");

OIX : Calendar® 0 8310] BT} LRIet A2t
£ 9 4FH7

public static void main(String[] args) {
Calendar now = Calendar.getinstance();
printCalendar("& Xl ", now);

Calendar firstDate = Calendar.getinstance();
firstDate.clear();

/720123 128 259, 1288 EHSHT| 2/ montho 112 27
firstDate.set(2012, 11, 25);
firstDate.set(CalendarHOUR_OF_DAY, 20); // X9 8A|
firstDate.set(Calendar.MINUTE, 30); // 30&
printCalendar("X{ 3 H|0|Est &2 ", firstDate);

}
}

ST 2012/12/27/2 2 L(20A)2F8A| 228 28X 8892 2| X
XS HO|ESH 22 2012/12/25/3t2 Y (20A)2Z=8A| 302 0% 0E|=




